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SOLUTION

1. The money market is the market in which short-term securities (maturities of 1 year or less) are traded, e.g., Treasury Bills & Certificates of Deposit. While long-term securities (maturities of more than 1 year) are traded in the capital market, e.g., Stocks & Bonds.

2. The primary market is the market in which newly issued securities are traded for the first time, while in the secondary market previously owned securities are bought and sold. When Vera purchased the 1,000 WebMax.com shares from AB&M Investment Bank the transaction took place in the primary market. This is because as the underwriter of the new issue of WebMax.com shares AB&M is acting as an intermediary, i.e., a vendor and not the owner of the new issue of shares. Yes, it would make a difference. If Vera purchased previously WebMax.com shares in the over-the-counter market the transaction will take place in the secondary market. The dealer in the over-the-counter market apart from being the vendor of the shares is also the owner of the shares.

 

3. The organized exchange and the over-the-counter market are both capital markets were long-term securities are both and sold. An organized exchange is a tangible market as it has a physical location. Here firms wishing to have their securities traded must become listed by complying with the rules and regulations of the organized exchanges. Brokers who must be members of the organized exchange carry on the trading of securities. Trading operates through an auction system, For example Broker A will communicate to other brokers that they have stocks to sell on behalf of her client and will accept the highest offer price made by Broker B who needs such stocks to purchases on behalf of his/her client. Titles of securities traded in the organized exchange does not pass to the broker but from seller to buyer. Brokers make their money by charging brokerage fees payable by the clients. The over-the-counter market is an intangible market, as it has no physical location. The traders in this market are known as dealers and the stocks are not listed. Usually when a dealer sell stocks she is selling stocks that belong to her and also will buy stock, the title of which will pass to the broker. Dealers can buy or sell securities to other dealers or non-dealers. Trading on the over-the-counter market also operates through the auction system by the use of telephones and electronic means unlike the organized exchange where trading among brokers is face to face. Dealers earn income from the spread between the selling and purchase price of the securities traded.

4. The price that a borrower must pay for debt is called the interest rate. The price of equity called is known as the required rate of return (which comprises of a dividend yield and a capital gains yield. The four fundamental factors that affect the cost of money are:- 

(a)production opportunities – the greater the production opportunities are, the higher the cost of money and vice versa 

(b)time preference of consumption – the greater the propensity to consumption the higher the cost of money and vice versa 

(c)risk – the greater the risk the higher the cost of money and vice versa

(d)expected inflation – the higher expectation of inflation the higher the cost of money and vice versa

  

5. The real risk-free rate of interest (k*) will compensate an investor for delaying consumption only, while the nominal risk-free rate (krf) will compensate the investor for delaying consumption and for the effect of expected inflation. The nominal risk-free rate (krf) is measured by using the rate on treasury bills/government bonds while the real risk-free rate (k*) is measured by finding the difference between the nominal risk-free rate and the rate of expected inflation, i.e.,       k* = krf - IP 
  

  

6. (a)The rate of return on an investment to compensate for the effects of expected inflation is known as the Inflation Premium (IP).  

(b)
The Default Risk Premium (DRP) is that part of an investment’s return that will compensate the investor for the possibility that principal amount invested is not paid. 

(c)
Liquidity Premium (LP) is a rate of return on an investment to compensate an investor if there will be a difficulty in converting the security to cash at short notice. 

(d)
The part of an investment’s return that will compensate the investor for the possibility that general interest rate will increase while the investor is holding the investment is called the Maturity Risk Premium (MRP). 

7. All securities must include the real risk-free rate of interest and each would include the following premiums:- 
(a)
Short-term GOJ securities – IP only 

(b)
Long-term GOJ securities – IP and MRP 

(c)
Short-term corporate securities – IP, LP and DRP 

(d)
Long-term corporate securities – IP, DRP, LP and MRP

  

8.    4-6. k = k* + IP + MRP + DRP + LP.

k* = 3

IP = [3 + 4 + (5)(3.5)]/7 = 3.5

MRP = 0.05(6) = 0.3

DRP = 0  LP = 0

k = 3 + 3.5 + 0.3 = 6.8%

9.    4-13.First, calculate the inflation premiums for the next three and five years, respectively.  They are IP3 = (2.5% + 3.2% + 3.6%)/3 = 3.1% and IP5 = (2.5% + 3.2% + 3.6% + 3.6% + 3.6%)/5 = 3.3%.  The real risk-free rate is given as 2.75%.  Since the default and liquidity premiums are zero on Treasury bonds, we can now solve for the default risk premium.  Thus, 6.25% = 2.75% + 3.1% + MRP3, or MRP3 = 0.4%.  Similarly, 6.8% = 2.75% + 3.3% + MRP5, or MRP5 = 0.75%.  Thus, MRP5 – MRP3 = 0.75% - 0.40% = 0.35%.

10. The term structure of interest rates is the relationship between interest rates (or yields to maturity) and time to maturity of different securities of the same risk class. The yield curve is a graph showing the term structure of interest rates. 
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  Term        Rate
 6 months     5.1%

 1 year       5.5

 2 years      5.6

 3 years      5.7

 4 years      5.8

 5 years      6.0

10 years      6.1

20 years      6.5

30 years      6.3
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12.    4-14


a.
             Real

Years to   Risk-Free

Maturity   Rate (k*)    IP**    MRP    kT = k* + IP + MRP
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   1           2%       7.00%   0.2%          9.20%

   2           2        6.00    0.4           8.40

   3           2        5.00    0.6           7.60

   4           2        4.50    0.8           7.30

   5           2        4.20    1.0           7.20

  10           2        3.60    1.0           6.60

  20           2        3.30    1.0           6.30

**The computation of the inflation premium is as follows:

          ADVANCE \l2Expected           Average

Year     Inflation     Expected Inflation
  1          7%               7.00%

  2          5                6.00 

  3          3                5.00 

  4          3                4.50 

  5          3                4.20 

 10          3                3.60 

 20          3                3.30 

For example, the calculation for 3 years is as follows:
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Thus, the yield curve would be as follows:


b.
The interest rate on the Exxon Mobil bonds has the same components as the Treasury securities, except that the Exxon Mobil bonds have default risk, so a default risk premium must be included.  Therefore,

kExxon Mobil = k* + IP + MRP + DRP.
For a strong company such as Exxon Mobil, the default risk premium is virtually zero for short-term bonds.  However, as time to maturity increases, the probability of default, although still small, is suffi​cient to warrant a default premium.  Thus, the yield risk curve for the Exxon Mobil bonds will rise above the yield curve for the Treasury securities.  In the graph, the default risk premium was assumed to be 1.0 percentage point on the 20-year Exxon Mobil bonds.  The return should equal 6.3% + 1% = 7.3%.

c.
Exelon bonds would have significantly more default risk than either Treasury securities or Exxon Mobil bonds, and the risk of default would increase over time due to possible financial deterioration.  In this example, the default risk premium was assumed to be 1.0 percentage point on the 1-year Exelon bonds and 2.0 percentage points on the 20-year bonds.  The 20-year return should equal 6.3% + 2% = 8.3%.

13. k* =  4%   IP1  =  6%;
IP2  =  7%
and
IP(3  =  9% per year 
MRP(1  =  0%;
MRP2  =  0.2%
and
MRP3(x(15  =  0.2% per year 

Note :   k
=
k*  +  IPn  +  MRPt  (For long-term Government Bonds) 

Where:
IPn  =  average expected inflation rate over the n-year period and is measured as follows:- 


And, MRPt  =   maturity risk premium at time period t and is measured as follows:- 

MRPt  =  0.2% x the number of years >1 i.e. (t-1) 

Therefore,
k1  =   k*  +  IP1  +  MRP1 

=   4%  +  6%  +  0%   =   10% 
k5  =   k* +  IP5  +  MRP5   

where
IP5  =  [6% + 7% + (9% x3)] / 5  =  40% / 5  = 8% 

  and
MRP10  =  0.2%(5 – 1)    =  0.2% x 4  =  0.8% 

so:

k5  =  4%  +  8%  +  0.8%  =  12.8%



    

k15  =    k*  +  IP15  +  MRP15 
where:


IP15  =  [6% + 7% + (9% x13)] / 15  =  130% / 15  = 8.67% 

and
MRP15  =  0.2%(15 – 1)    =  0.2% x 14  =  2.8% 

so
: 
k15  =  4%  +  8.67%  +  2.8%  =  15.47%

Yield Curve:

Yield curve is upward sloping.
14. See spreadsheet (solutions-4-17.xls)
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